PF3-JR Stand Assembly

Product Images

7/4/25
https://jpw-catalog-qa-b2c-2.corevist.cloud/pf3-jr-stand-assembly



https://jpw-catalog-qa-b2c-2.corevist.cloud/pf3-jr-stand-assembly

Description

Index
Number

10

11

12

13

14

15

16

17

18

19

20

21

23

24

25

26

27

Part
Number

PF3JR-101
TS-1550061
PF3JR-103
TS-1540061
PF3JR-105
TS-1550061
PF3JR-107
TS-1540061
PF3JR-109
TS-2361081
PF3JR-111
TS-2310162
PF3JR-113
TS-1550071
TS-1491081

PF3JR-116

PF3JR-117A

PF3JR-118A

PF3JR-119
PF3JR-120
PF3JR-121A
PF3JR-123A
PF3JR-124
PF3JR-125
TS-2310162

PF3JR-127

Description Size
Base

Flat Washer M8
Lock Handle

Hex Nut M8

Elevating Bracket

Flat Washer M8
Lock Handle

Hex Nut M8
Mod. Screw

Lock Washer M8
Arm Cone

Hex Nut M16x1.5P
Lock Handle

Flat Washer M10
Hex Cap Screw M10x50
Handle

Vertical Column (s/n 17020030001 and
higher)

Horizontal Arm (s/n 17020030001 and
higher)

Elevating Screw
Horizontal Screw
Column Cap (s/n 17020030001 and higher)

Elevating Handle

Pin 4x30 mm
Swivel Cone
Hex Nut M16x1.5P
Lock Handle

https://jpw-catalog-qa-b2c-2.corevist.cloud/pf3-jr-stand-assembly

Qty

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/pf3-jr-stand-assembly

28 PF3JR-128

Additional Information

Socket Hd Cap Screw (s/n 17020030001 and
higher)

M8x20 mm

Stock Number

Products in this set

1790818-1

https://jpw-catalog-qa-b2c-2.corevist.cloud/pf3-jr-stand-assembly

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/pf3-jr-stand-assembly

